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gobooboobboon

gbobobobobobobobobobobobobUobUobobUobobobU 1bobooooooo
oboboboboboboboooboobooboooobooboooboobobobOobOobDOobDOoDOoboOoboon
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0000000000000 0000O000D0000O0 (000)0D00D00DDO0OO000O0DO0ODOODO
googooobooooooooboobooobooobooobooboboooboooboobooobOoOon
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gbobobobobobobobooobooboooobooboooboobobobOobobDOobLDOobDoboOoboOon
goboobogoboobooooboobooboboon
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o00o00o0oo0ooobO 1 oobobobo0o0ob0obD0obOobO0obobooboooDOooDooOoDbOooD

000 4659876424 7975213576 8905873123 8076753758 0953256897 6245687112 76083
000 4973265841 4973265841 4973265841 4973265841 4973265841 4973265841 49732
000 08522031265 1848478317 2878038964 2949918599 4826411638 0118842953 15715

0000000000000 KOoooooo 100ooo0oo0oooooooooooooooo1ooo0oo
loooooooooooooooooooooooooooOooooooooOoooboOo0ooooOonDon 4100
oooooobooooooboobooOoooboboooo0oobboOoooOoobOooooDooboboOoooDoooD
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oooo0oooo@mooooooo000 ‘00”0000 000D0oO0o0oOoOO00OD “DO00D0OD
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coboooobooboooobooooboobooooboooooooobobooooOoooboboOooooooboooooooon
O00000000000000O0onetime pad 0000000000000 000O0O00O0O00C0OO0OOO
cooooooobooobooooooooooOooOoOoooOoobooOoobooOoOoooOooOoOoOoobOboOooon

goboooooobooooooobbooooooboboobooooDboooobooobDoooDboOoooboooD
oo200000000000000O0O0O0O0O0OOOOOOCOCOCOOOOOOO0OOOOOOOOODOOO
ocoooooboboooooobooboooobobooobooooobobooooooobbooooOoobboOoooooon
coboodoobbooboooobooboooobobooooooobobooooooobobooboooooboooooooon
cobooooboboooboooobooboooobbooobooooobooOoooOoOoooboboOooOooOooboboOooOooOooon
ooooooooooooooooooooooooobooOoooboooooo
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coboooobooobooooboobooooboOoboooobooooooobobooooOooboboOoooooon
oobooooobooooboooobooooboOooobOoooobooboooooooooobooon
gooooooooooooovooooooooooOoOobOboOooooOooooooooooooooon
ooooooboboooooobobooboooooboboooooobobooooOoobbOoooOooDbboOooobooooD
coooboocooOooboocobOoOoooboOooOoOooOoOOoOooboOobOOoOooOoobOOoOooOoOobOOoOooOoOoboooon
0000000000 (ecolossus00000000)000000D0000O0OOOOOOOOOOOODOODO
coboodoobbooooooboooboooooboboooooooboboooooooboboOooooooboooooooon
0000000000000 0O0000000000O0O0DO00O0OUO0ODOUODOUODODOODOD (O
00000)00000000000000000000D00D0DO00O00DO0O0O0ODO0OD0OD0OOOOOD
coboooobocooooobooobooOoOoOobOOoOoOoOoOoOobOOoOoOoOoOoOobObOO0obOOoOoOobOboOobOoOoOooon
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000000000000 0000 (0000000000 0)00000D00O0D0O0ODOOO0OODOOO
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oobooboooboooboooooooobooobobobobobobooDooooobooooobooboboD
00000 1000000000000 O00O0O0DO0ODOO0ODOO00OO0ODOO0ODO0ODOODODOODOn
gbobobobobobogoooooooooooooooobobobUobOobOobOobDOobDOobOOboOn
gobooboobbooboobobooobooboobobooboobboon

gogboobooobooobboobboobboobbooobooobboobboobbooboboo
obobobobobobobobooboooooobooboboobobobobOobDobDOoDOobDOoboOooon
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uoooooooboooobooobooo nOmbOO0OO0OO0O0OO0OOOOOOOODOOCOOOOOOOO m
ooboooooooobboooboobodnbOO0OO0ODbDOOObOOOODOOOOOOODOODOOOODOO
cooboooobooooboooooooooood

gobgooboobboob

ooooooog
300000000000000D00000D0A0000D00DO0O0ODO0ODODODODOODOOOOOODOM 1
00000 10000((2)0000000b00b00L0000bO0DOO0@3) 00000 LO0DDODOoDLOO0DOODOOD
0000o0oo0ooooooooooodooooog 2r—-100000000000

00000000000 (TSP)
000000000000000000000000000000000000000000000000
0000000000000 0000000000000000 (0000000)000000000000
0000000000000000000000000000000000000000

0000000 (SAT)
n000000000000000000000000000000000000000000000000
TSPOOD0O0O0OOO0D0O0O0OO0O00O0000D0000000 NPOOOOOOOOOOOOOND “00
00” 00000PO0O0OOODOOO0OO0OOOO0O0OO0OOOOOOOOODOOD 10000000000000
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00000200000 a,b0000d=ged(a,b) 00000
begin

p = max(a,b); ¢ := min(a,bd);
while ¢ # 0do

begin
r:=pmodgqg, p:=g¢; ¢q:=r{0000}
end;
d:=p{0000000}

end.

00 OOoOooOocoOobOOoOoOoOoOoOoOobOOooOooOoOod

p=gxsi+r; 0<r <gq,
g=r1XxXs3+1r2 0<ry <1y,
T =Ty X s3+r3 0<r3<ro,
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ooooooooboob ¢g>rm>re>ry3000o0oooooooodnO0 r,=00000000

Tn—2 = Tn—1 X Sp + Tn,

Tn—1 =7Tnp X Sn+1

ooooood r,., 0 r, 0000000000000000 r, .0, 00000000000O0O0O0OO
00o0oO0o0o0ooo pgOO0 r, 00000000Or, O p,g00000000000000
0000000000000000000000000

pP—qgXs1=r1,
q—1r1 X 83 =7rg,

KT — T2 X 83 =713,

Tn—2 —Th—1 X Sp = Tp

p,qU0OO0000OO0 eO0OD00 O eb0DbO0D0OODOOO0OOr 0 e0000DO0ODOOOOOOO
ugor, 00 ebooboooobr, 2e. 0OO0O0O r, 0 p,gU0O0Oo0bO0OLOOOoLObOOO

005 00000000 (a,b) 0000d=ged(a,b) 0000e, fO00D0000000 axe+bx fOd
0000000000d=axh+bxk000000 hkOOOOOD

0010 0000000d=ged(e,b) 00000000000 0DOODOODOOOOOOODOOOOOODO
O0exh+bxk=100000000
o020 Dobooooooobobobobooobooogo

O
1] 112385 «a 108108 b 25
108108 b 106925 25(a —b)
3 4277 a—b 1183  26b — 25a 1
3549  3(26b — 25a) 728  T6a — 79b
1 728  T76a — 79b 455 1056 —101a | 1
455 1056 — 101a 273 177a — 184b
1 273 177a — 184b 182 289b —278a | 2
182 289b — 278a 182
91 455a — 473b 0
00 O Dged(112385,108108) = 91, 455 x 112385 — 473 x 108108 = 51135175 — 51135084 = 91
433 00O

gogboobooobooobboobboobbooobooobboobboobboobbooobOoo
goboooooboobooooooboboooooobbooboobooooboboboobDobobooobog
goboobogobobdooboooobooboobbooboobboobooobooba

00 15 a=b (modp)<=pla—b(a—b0 p000000)<~—a=b+pxq000000¢OOODO
“a=b (modp)” 0 0«0 b0p00000000000OODOO
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040 00000

OO0 mod2000

00n00““00”000n=0 (mod2)0“007”000 n=1 (mod2)0000

mod 200000000040=0 (mod2), 1+1=0(mod2), 1+0=1(mod2) 000000000
gboboo™@oobobooooo™@oooooooboobDobDobobobobooo

OO0 mod6000O

+10 1 2 3 4 5 x|0 1 2 3 4 5
0jo0 1 2 3 4 5 0{0 0O O O 0 O
111 2 3 4 5 0 1170 1 2 3 4 5
212 3 4 5 0 1 210 2 4 0 2 4
313 4 5 0 1 2 310 3 0 3 0 3
414 5 0 1 2 3 410 4 2 0 4 2
515 0 1 2 3 4 5|10 5 4 3 2 1

—1=5 (mod 6), —2=4 (mod 4), —3=3 (mod 6), —4 =2 (mod 6), —5 =1 (mod 6)

OO0 mod7000O

+

UL W = O =N O
== Ot DO W O W
W O N Ut =R O
[ G U = e
N W ke ot OO

— O o Ul A W NN
N~ O O Ul W w
W N R OO Tt
U R = B Al RS
S U R = R

DD T e W NN = O

DD T e W NN = OO
S O O R W NN ==
S O R W NN~ O X
o O O O o o oo
S O R W NN~ O

—1=6 (mod 7), —2=5 (mod 7),

4 (mod 7),

5 (mod 7)

N
W —

oooooooooogd
OO 6 ODOOOOOOOOOOOOOObOOOOOOn

(1) a=b (mod¢) D000 cO000 atec=bxc (modg),axc=bxc (mod q).
(2) 000 a=b (modg),c=d (mod ¢) 0000 axc=bxd (mod q),a xc=bxd (mod q).
(3) 00000 a,b,k0000b=a+k (mod q) <= a=b—k (mod q).

0000000000000 000000000mod 60000 2x2=2%x5=4(mod6)0000000O
0000000000000, mod 7000000000000 O0OOOODOOOOODOOOOO

007 ODOO0OOOOoOOOOOOOO0OOoO0oon

1. pa(0<a<p)00000DO00D00DO00O0D ab=1 (modp) 000000 0<b<pOO0
goooooooooooopOOOOOOOO
2. p0000000a=0 (modp) 0000a=0 (modp) 000 b=0 (modp) 00DDO0OO0
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oo

1.p0«00000000000000O b,q0000 ab+pg=10000000000<b<pO0O
00000 ab=1 (modp)0000b< 00 b>p0000 alb+p)+p(gFa)=1(0000) 00
000<b<pOOO0O0O0O0DODD GO pOOODOO0O0000O

2. 00000000000000000 ,b000 p00000000p000000 ,b0000 pO
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